P AU E AR B SR A IR A T, RE VAR T AL s AAEH TR & -

4

BIEHEEHR ST (S06A) HEEVLRH

Digital power supply case (S06A) assembly instruction

ShEE T HEIERIS: RD6006/ RD6OOOW
This case is suitable for RD6006/ RD6006W

&iTHHEA: 2020-11-4

Date:2019.10. 24

4 S06A Assembly
S06AHC£HEE 5B Instruction in English

mi#EAN Click View

B Click View




P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

A}

BIRBIEGH ST (S06A) 43 B

ShFIE AT RS . RD6006/ RDOOOOW

7T HER: 2020-11-4

BRI I S R R IR 7 R B IR B A 5, 9 TR TR
TREAT S AR RE, ARAT EAF IO PR S, JE Gt IR ERAE, Ao U A 4 Bl 52 A 15
FRELF, DMEH &R .

HE: BTHREEY MEIANGZENRE, R ALERE ARIESM
WHGMPTYER, ERRERE, HEARET)LENZAXE RS R# 7 .

TS FIHERE T OC FL U, P b R S v T T AL B 15




P AU ZAEBUARIN SR IRA A AT, RE SR AL B AT TR E -

H 5% | Conten

B IR M e (S0BA) AU oo 2
Lo VETEFEI o 4
2 T B R T s 4
3. FLAFFUTR oo 4
A FEERILAEIE oo 6
5. ZHEEIDIR oo 7

5.1 ZHARAERT: oo e 7
5.2 BHIEWIE: oo 7

Digital power supply case (SO6A) assembly instruction..........ccccoouun... 12
LUNOTES e 14
2.Product DiMENSION....ccciiiiiiiiiiiiieeeeee e 14
3.ACCESSONY LISt cuniiiiiiiiiii e 14
VO Yol ol =1 o] oV o o1 U | 16
5.Assembly ProCedure.......c.oovevuiioe i 17

5.1 Assembly Preparation.......ccccceevuueeeieiiiiiiee e, 17
5.2 ASSEMDBIY SEEP oeeeeiiee e e 17



P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

1. FEEEN

® AR AITE AN EEA S, WA SEIIE S AR FERR.

W AR S Mk 2 i s, AE Mk N5 271814,
AR P BT FE I, FEREAS R BT LE AT AHE A
il 31 P 3t 5

® RANTER ML RE, RIEWTEE, A&, I B 1R
BRI, 8 G G B AT IR 5 .

® I PR, IERREERE IR K

® ANFIAE HLJR PR A DL T R L

® TR GREANMBE .

2. FEERS
s, L T
\mm T‘/\/S/C')mm x
- i - /(;)\ :
e (8
570, , -
\ ‘= | /\’(?’(0((\
/<\/
3. BHFIFE
= 4% HE e
iR SO6A LR 1

TR S06A &R 1




P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

X3 50mm*15mm 1
XU B3 ftERHR 33mm*33mm 1
XU G AtEERIR2ZZ M3*5*7 3
B E R M3#5+7 4 l l 11
M3 #Ziig 6 000000
RS HENE
ESL M3*13 4
e 2R
HEFENE: 1R
R e 1R 6
éI@I 11‘E e <z
TPl
EE 1R = _—
AREIFFE KCD3 1
AR HERE AC-03 1
i =yiilEe ®d13*4 4
FrXFOE 4
woxmx |+ | LE L L
Eijnaleed
HNEEEEYZ | M3*6 ELEBE 10 !‘\' z“ 2‘\ 2‘\ !‘\




P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

4. P HERAE

RD60067M=HefF— 5

000000 t B EER S
ll 11 | USRS Bl E iR 44

/ \\
« 111l | F e RE TR

e ALARAARAA— shmEEEy

4411111 B HEREERL

RABIFFR

‘ )

R EBARARIR




P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

5. HEDE
&1%&%&%:

® K HIJR RD6006 — 5, SO6A —%, 60VEA JF K HIE—f .

o T H, i} (ERAEEE, Wik, JTHE, B8], MEES).

® YA,
HEAE TR FLE -
https://item.taobao.com/item.htm?spm=a12z10.3-c-s.w4002-22464327644.9.53272636SXPPKb&i
d=610307682808

5.2 HEEPR:

AR http://qr17.cn/BLiz7P

e AR, B AT Re s E R AR T, an IR B I AR 4R R
HRRHE )G A, RS RD6006 LA, T LA 60V FF5% B I A XU
K, IXREREAOR B

1. MO A . X BRI 21 R B AC A B R 2 SO6A FTC 2 15 e

2. RD6006 F7r: WKL A1 RD6006 Joi T-iE3ELF, E A HjE & 3
12V1A %5 RD6006 i HL, RD6006 i% & SVI1A FTH % H & Son 2 75 1EH .

3. JRARAHAE: RATR, dhTdEE, XU R s .

0

4. JFRHUEASE: KRRl T s k.


https://item.taobao.com/item.htm?spm=a1z10.3-c-s.w4002-22464327644.9.53272636SXPPKb&id=610307682808
https://item.taobao.com/item.htm?spm=a1z10.3-c-s.w4002-22464327644.9.53272636SXPPKb&id=610307682808
http://qr17.cn/BLiz7P

P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

(=] a®

« « |l
. « Il
N _

5. PEHIL: HRIRIEL S (aRalE, A LRI

FURERAEIBIT SR S A0 K e (L)s 4RI FI BRI T ) K 2
(L FIERIERGRTREEL (VD ATFRBTEL (N AN GAEE
S, () ATFRAFIL ().,

6. FFRHYFMIR: MG EREL S, IR AR, H AR A L AL 2ok
W, PR TR E 6oV HRS H 2 T 1R, SR )5 FH/INE 22 T8 B R 1 Far B
P43 65V A,



P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

8. RD6006 1 %%: 14 RD6006 <2|7E¥ I, IRJEKIMEL RS & k.
9. FIRFELLHSE: 14 RD6006 LR+ 2 5 L Y5 Py A o, g XU £ HEL AR P £ F
Uity 42 B O HL YR P A k) ot P XUt P R 4 1) XU A R L



P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

10. JEHN: SEEFERIRL, FTIFITOR, Ahse KU s eiliok (3 IRAE X, 40°C
AT, LI 3s Gk, 40°C-50C{LdEz ;, 50°C-60CH iz 60CLLE
RIS .

11, RUFAhseiRes.

12. UL,

10



A AU B ZAEBUABUN R SR IR A F T, AR SVHE M AL A T A% .

13. f¢JEiE IR

11



P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

Digital power supply case (S06A) assembly

instruction

This case is suitable for RD6006/ RD6006W
Date:2019.10.24
Dear users, thank you for purchasing the digital power supply accessory-metal case
produced by Hangzhou Ruideng Technology Co., Ltd. In order to let you know more about
the full function of this product, get a better experience and avoid misuse. Please read this
instruction carefully before assembly. Keep it for future reference.

ATTENTION: Since the assembly process involves voltage that exceeds the human body's
safety, non-professionals should not operate, you must do insulation and protective
measures during the assembly process, and check the wiring several times for safety, please
place the product at a place that children and old people cannot get.

Please use the switch power supply we recommend, and if you use other power source,
check if the positions of fixing holes are suitable or not.

12



P AU E AR B SR A IR A T, RE VAR T AL s AAEH TR & -

CONTENT| H %

B IR Ah e (S0BA) AU oo 2
Lo VETEFEI o 4
2 T B T s 4
3. FEIFFUZR oo 4
A FEERILAFIE oo 6
5. ZHEEIDTR oo 7

5.1 ZHARAERT: oo e 7
5.2 BHIEWIE: oo 7

Digital power supply case (S06A) assembly instruction........ccccceevveeeeeen. 12
LUNOEES e 14
2.Product DiMENSION....ccciiiiiiiiiiiiieeeeee e 14
3.ACCESSONY LISt cuniiiiiiiiiee e 14
VO Yol ol =1 o] oV o o1 U | 16
5.Assembly ProCedUre.........uueieeieiiieeeeeeccce e eeeeanns 17

5.1 Assembly Preparation........cccceevuveeeieeeiiiiee e, 17
5.2 ASSEMDBIY SEEP oeveeiieeeeeeece e 17

13



P AU ZAERUABUN B SR IR AT A, ARG SCVFAEAT AL A NG TR i

1.Notes

e Read this instruction carefully before assembly, if you still have question, please contact

us.
Since the assembly process involves voltage that exceeds the human body's safety,

non-professionals should not operate, you must do insulation and protective measures during
the assembly process, don’t forget to check the wiring several times for safety, and place the
product at a place which children and old people can not get.

e This case is made of cold-rolled steel plate and the surface is sprayed. When assembling
and using, prevent it from scratching by sharp objects, and avoid direct sunlight and humid
environment.

e Avoid short circuit when assembling, connect the electrode correctly.

® NEVER connect the cables with the power ON.

® Try to avoid vibration and fall.

2.Product Dimension

I‘
&

/\
-

[ .
I ot

/\3% i’ i
e

®)

\/\k

3.Accessory List
NAME SPECIFICATION QUANTITY PICTURE
Upper Board SO06A upper board 1
Lower Board SO6A lower board 1

14




P AU E AR B SR A IR A T, RE VAR T AL s AAEH TR & -

Fan 50mm*15mm 1
Fan power board 33mm*33mm 1
Screws for
M3*5*7 3
fan power board
Foot pad fixin
P g M3*5*7 4
screws
Round screw
000000
Fan fixing
M3*13 6 11 11
screws
M3 nut
brown: 2
yellow-green: 1
Cables blue: 1 6
red: 1 e <«
Tt S
D ————————————— Nl
black: 1 = —
Rocker switch KCD3 1
AC power socket AC-03 1
Non-slip mat 013*4 4
switch power )
supply fixin M4*6 flat head 4 :
o 1131
screws
M3*6 flat head
Case fixing screws 10

white

15




P AU E AR B SR A IR A T, RE VAR T AL s AAEH TR & -

4.Accessory Picture

RD6006 Case Accessory List

o0oo0000—C

111

—E

111y

ARRAAAARRA—7F
44441448 G
0000
Dum
Dum

T -
™ a = -_—

16



P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

A: Upper Board B:Lower Board

C: M3 Nuts D: M3 Round Screws

E: M4 Flat Head Screws F: M3 Flat Head White Screws
G: M3 Black Screws H: Non-slip mat

I: Rocker switch J: AC power socket

K: Fan power board L: Fan

M: Cables

5.Assembly Procedure

5.1 Assembly Preparation

e RD6006 digital power supply*1, SO6A case*1, 60V6A switch power supply*1
® Tools, accessory(DC power supply, 3 pin plug cable, multimeter, screw driver, test pencil...)
® Proper assembly environment

It is recommend to use a 400W 60V switch power supply as shown below.

&2

5.2 Assembly step

Note: The case material is a bit soft and may be slightly deformed during transportation. If
there is a gap during the assembly, please straighten it before assemble it. If you find the
temperature inside the case is high. You can install the fan of the 60V switch power supply in the
opposite way, the heat dissipation is better in this way.

(DcCheck the accessories: check if the accessories of SO6A are same as accessory list or
accessory picture.

@Check RD6006: connect the longest cable to the input interface of RD6006, and then
adjust input power supply to 12v/1A to power on RD6006, and set 5V/1A output on RD6006, turn
on the output to see if the output is normal or not.

@Back board assembly: install the rocker switch, AC power socket and fan on the lower
board.

17




P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

@Install the switch power supply: install the switch power supply on the lower board.

@ @
(54 <

@Connect cables to switch power supply: (dangerous, non-professionals should not

operate)

Use the brown cable to connect the rocker switch and the live wire (L) of the switch power
supply; then use the brown cable to connect the rocker switch and the live wire (L) of the AC
power socket; Use the blue cable to connect the neutral wire (N) of AC power socket and the
neutral wire (N) of switch power supply; Use a yellow-green two-color cable to connect the
ground wire (E) of AC power socket and the ground wire (=) of switch power supply.

18



P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

@switch power supply test:
check the wring again and power on the switch power supply, and use test pencil to check
the power and insulation status. Then use multimeter to check if the 60V output is normal, then

use screw driver to adjust the output of the switch power supply to 65V.

SRt N

@Install the fan power board: install the fan power board to the corresponding position.



P AU EAEBUARN R SR RAF BT, ARG VP A7 B NG il 12

InstaII RD6006: install RD6006 on the front side and connect the external sensor.

@Connect the rest cables: connect the input of RD6006 to the output of switch power
supply, and connect the input of fan power board to the output of switch power supply, connect
the fan cable to fan power board.

Power on and test

Connect power cable and turn on the switch, the fan start to work.
(Note:Temperature-controlled fan, when the RD6006 is powered on below 40°C, it will work for 3
seconds and then stop, and it will run at low speed below 40°C-50°C, run at medium speed
below 50°C-60°C, run at full speed when the temperature exceeds 60°C)

(DInstall the screws of the case

20



A AU B ZAEBUABUN R SR IR A F T, AR SVHE M AL A T A% .

(2Install the foot pads.

@Final energization test

21



	数控电源钣金外壳（S06A）组装说明
	1. 注意事项
	2. 产品尺寸
	3. 配件列表
	4. 产品配件图
	5. 组装步骤
	5.1组装准备：
	5.2 组装步骤：


	Digital power supply case (S06A) assembly instruction
	1.Notes
	2.Product Dimension
	3.Accessory List
	4.Accessory Picture
	5.Assembly Procedure
	5.1 Assembly Preparation
	5.2 Assembly step



